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Aufgabe Al
Leite nach der Produktregel ab und fasse zusammen.
a) fik=(01-2x)@Bx+1) b) fo(x)=(x*—4)-(x*+1)
Q) A =(Gx-1)-(4-08x? d) fi)=@2+6)-(1-1t?)
e) fs)=@E*+x%)-1-x) f)  fer)=Q+1?)?
Aufgabe A2
Leite nach der Produktregel ab und fasse zusammen.
a) fi(x)=xx b) fo(x)=x%*-Vx
c) fi(x)=(2x—-1)-Vx d) fu®) = @7t* - 1)+t
e) fsl=2-(1-x% ) fol) ===
g) f7(x) =x-cos(x) h)  fe(x) = (x* +1)-sin(x)
i) folx) = Vx cos(x) ) fio(6) = sin(t) - cos(x)
K)  fu1(t) = sin®(t) 1) fi2() = cos?(t)
Aufgabe A3
Leite nach der Produktregel ab und fasse zusammen.
a) filx) =mx b) fo,(x)=a-x?
Q) fi(t) =gt d)  falx) =t(x?—x)
e) fs(®) =t(x*—x) f)  fe(2) =t(x*—x)
g) fix)=x9x h)  fe(x) = (g(x))?

) fo(x)=g9"(x) gx)
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Leve/ 1 - Grund/agen - B/att 5

Losung Al

a)

fi't)==-2-Bx+1)+3-(1-2x)
=1-12x

b) f'(x)=2x-(x3+1)+3x%-(x*—-4)
=x(5x3 —12x + 2)
Q) £'@)=3 (4—08x})—16x-Gx—1)
=—1,2x*>+1,6x+2
d) fi’®=6t+1) - (1—-t?)—2t-3t2+1)
=—-12t3-3t*+ 6t +1
e) fi'(x)=Bx?+2x)-(1—x)— (3x?+2x)
= 2x — 4x3
f)  fd@)=201+71%-2r
=4x(x% + 1)
Losung A2
a) fll(x)=\/;+%=§'\/§
b) fz'(x)=2x-\/_+i—; Vi3
0 =2 f+(2“)—2}12
d)  £/(6) = 94¢ - \/—+47tt1_23;f/_—1
&) f'()= ——(1 - - =22
n fre=-2
g) f7'(x) = cos(x) — x - sin(x)
h)  fo'(x) =2x-sin(x) + (x* +1) - cos(x)
) fo'(x) = Cozf/(f) Vx - sin(x) = —Cos(x);z/;sm(x)
) fio'(®) = cos?(t) — sin®(2)
K)  fi1'(®) = 2sin(t) - cos(t) = sin(2t)
N fio'(®) = =2sin(t) - cos(t) = —sin(2t)
Losung A3
a) fil)=m b)  f2(x) =2ax
) fL')=gt d fik)=¢-2x-1)
e) fi'®=x>—x f)  fe(z)=0
9) =g +x-g'(x) , h)  feg(x) =2g(x)-g'(x)
) A =9"(x) g0+ (')
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